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1. (1) 20x>—24x+28 ; (2) 3x*—x+4 ;
(3) —x3—2x2+1-
2.(1) —7%; (2) 30 ; (3) 16%2 -
3. (1) 6x2+18x : (2) —4x3+x%-
4. (1) —x2—3x: (2) 2x3—7x? : (3) 156x3—5x?+5x °
5. 8x%+14x+3 -
6. (1) 6x°+x—1: (2) 9X°—18x+8 °
7.x3—9x?423x—12 -
8. (1) ¥+8;(2) 23+5x%—11x+4 -
9. 33 +10x>—x—12 -
10. (1) 5x3—19x2—2x—8; (2) —2x3+5x*—10x +4 -
11, 14x3—21x>—12x+18 -
12. (1) —4x3+12x2—7x+21 ;5 (2) 6x3+ 11x>—35x o
13. (1) 9x*+24x+16 ; (2) 25x2—60x+ 36 ;
(3) x*—49 -
14. (1) 16x>+64x+64 ; (2) 49x>—14x+1;
(3) 4x*—1; (4) 25x*+30x2+9 -
15. 8x3—4x?+12x—3 o
16. 7x3+9x%—9x o
T2 ZIEAAIERA

1. (1)5x; (2)—2; (3)6; (4) %x :

2.(1)5x—2-0; (2) & -
3. (1)—4x+2: (2)15-
4. (1)—7:10; (2)—8x+4 2
5.(1)3x+4; (2)—3-
6.(1)—2x+3:19; (2)5x*—6 0 ¢
7.3x—1°9-
8.(1)—4x—10-20; (2) 4x+10- 39 -
1 9
9. 3x+7 vy
2 1
10. 4Xf? ; —3°
11. 8x°+10x+4 -

~ s 2 ~



12. 3x*4-5x—3 -
13.(1)—8; ()15
14.(1)10; (2)5 -
HEFERE

1.2x+3 -

1-3 EHHAl

[frE®RE ]

1. (1)—%x3 ; (2) 10x2—6x 5 (3) 6x2+19x—7 ;
(4) —8x?+14x+15; (5) 2x3+9x*+7x—6 ;
(6) 3x3+4x2—21x—28 ; (7) x> —42x+49 ;
(8) 9x*—4 ¢

2. 54x?>—390x+300 °

3. 15x°+19x— 16 o

4. (1)—4x%+25x+21 ; (2) 33 +5x%+4x+12 ;
(3) 23— 13x%+6x ; (4) 25x°—T70x3+49 -

5. 54x%—24 o

6. (1)2x—7 05 (2) 2x+3 > —2 ¢

(3)4x—6 > 17 ; (4) 2x+% ’ % °
7.(C) -
8. —8-
9.(1) O (@) x:(3) x:(4) O-
10. (D) -
1 (1)—2x+1-7; (2)x+%’ 421 °
12. 3x—4 -
13. 16x2—11 -
14. 5x—2
[ FEf=iiteE ]
1.D)- 2.(A)- 3.(D)- 4.(D)- 5. (C)-
6.(C)- 7.(D)- 8.(A)- 9.(D)- 10.(B)-
F—8 BNl
— EEE
1.(C- 2.D)- 3.(C)- 4.(C
—ERE
1. (1) 8888 ; (2) 200.5; (3) 23 -
2.2

3. (1)—2x—3; (2) 3¢ —2x+14 ;
(3) 3x3—4x2—3x—2: (4)3x—2 > 16 -
4, 11> +4x—2 -
= EtE®E
1. [ a=(150+5) (150 —5 )=1502—52
b=(150+3) (1503 )—=1502— 32
c=(150+1) (150—1)=1502—12

~ f#

Frllc>b>a -

=x2—5X+6—Xx2+4x—3+2x>—6x+4
=2 —Tx+7
3. ()R B PM =5 PO =5x >
ALl EE=2 (5x+x)=12x

FrLL PB =40—12x »
(3)EE=(40—12x)+4=10—3x
(4)EFERI=5% * x+(10—3x )?

=5x2+( 9x2—60x+100)
=14x2—60x+ 100

5 1 61 B L

(2R A AP =£J7F PMNO HyEE=12x »

2. (Xx—2)(x—3)—(x—1)(x—3)+2(x—1)(x—2)
=(Xx2—5Xx+6)—(x>—4x+3)+2 (x*—3x+2)

2-1 P/ REAT{BME
FRE 1 SRR

L ()5 (12 ; 3)\4 (52) -

? FHMER | 4 | 36 | 100 | — | g
7R 100
ERFEERE 36

St {Z\HG\MW’WT@-J?

EXEE 2 6 10 | = | 8

3.(1)7;(2)9;(3)%0

(41
4,
ENRERE V3 | VF | A
fievag it
A P NT R (VB 2 (A5 2
ERVEE | 4 5 +

5.(1)7;(2)11:(3)%:(4)%0

TRE 2 SEITIR
1. £6 -
2.+[3 ¢

3. (1) +7: (2) +[17 -
4. (1) +8; (2) +/ 13 -

KSN

—




5. (1) £90 ; (2) 35 ¢
6. (1) 224 ; (2) +45 ¢

7 3
7.(1) 27 (2) £ 5 (3) 0.3

9

8. (1) +75 7 (2 J_r%; (3) £0.5 -

9.5
10. 2 -
1.3«
12.(1) 11 2) > -

13.

a 7 20 | 200 | 0.2 0.02

\Ja 2.65|4.47 14.14 0.45 0.14

14, 2.2 -
15. (1) 175 (2) 289 & (3) 3 & -
16. 4.07 -

17. 31.14 -

18. (1) 75 5 (2) 4.1 -

19.7.1 -

HEFERE

1.(1)4; (2)84-

2.Co

2-1 Al
[#7EHE )

1 (1) 48 : (2) 0.8 ; (3) +=

10

(5) +\/ 17 -

2. (1) —13: (2) 1.2: (3)%; (4)%0

3.WD)O:@) x;B) x:(4) x:(65)O:(6) x;(7)
x5 (8) O (9) x -

4. (1) 14 ; (2) + % : (3) 1.5 (4) £140 ;
(5) +\/ 15 -

5. (1) 30;(2)1—50

62243 |5 N2

7.(C) -
8.(1)3>4>33>34>33;(2)3.317 -
9.(1) 16 14; (2) 11> 13

10. 173 -

; (4) £126 ;

11.9 /70 »~[65 /8 -

12.(1) (©): (A (C) -

13, 2.52 «
[ B2t )
1.(B)- 2. (B)-
5.(A) - 6.(C) <
7.(C)- 8.(C)-
4 ~

3.(C) -

9. (B) -

4. (A) -

10. (C) -



